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General Instructions :
(1) Please read the instructions carefully.

(it) This question paper consists of 21 questions in two Sections : Section — A
& Section — B.

(iti) Section — A has Objective type questions whereas Section — B contains

Subjective type questions.

(iv) Out of the given (5 + 16) = 21 questions, a candidate has to answer
(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct order.
(vi) Section — A : Objective Type Questions (24 marks)

(a) This section has § questions.

(b) There is no negative marking.

(c) Do as per the instructions given.

(d) Marks allotted are mentioned against each question/part.
(vii) Section — B : Subjective Type Questions (26 marks)

(a) This section has 16 questions.

(b) A candidate has to do 10 questions.

(c) Do as per the instructions given.

(d) Marks allotted are mentioned against each question/part.

Section - A
(Objective Type Questions)
1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1) Communication involves a sender, who encodes and sends a message

through a channel, and a receiver, who decodes the message and

gives . 1
(A) Message (B) Feedback
(C) Signal (D) Output
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(1)

(iii)

@iv)

)

(v1)
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Teh ThR <h! YWM (motivation) B Fed & fspamepema wfier & e
forl o618 Teet T Tl & W Sa e w1 378 hid T 3ATE N Edly ITed B & |

(A) 3ates (Intrinsic) (B) s (Extrinsic)
(C) ThRIeH (Positive) (D) A"/ (Self)
Tt foreft 9t forgeme 7t ot wrelt, It dop fop 319q T o urftenfies geeat 9w ft

&l | 978 QEU % Y g¥ (grudge) Wt 8 | 98 FohH FohR o Afaacd faehr & Tféa
2?

(A) IrausEt (Schizoid) (B) 31U (Paranoid)
(C) wulra (Dependent) (D) gl (Obsessive)
YT 3 Uk TS 3 (spreadsheet) 37 YT W AIR hi & b1 SUAT 356 Aeft

H R 2 | I8 T8 T8 =mEdt § foh B ST Brect @iet a1 G (edit) W | T8
ST TS 1 FohH A8 TIETT L Tehell & ?

frefafaa & @ w foret 3gt & fort watafores s (barrier) 16 8 2

(A) Tt Hfireh! shl Iueteere

(B) waTe = HTet shl shell

(C) T T i Hrft

(D) FHI 9T g T JTTIASHAT

frfafaa @ @ 4 17 =84 19 (greenhouse gas) TE & ?
(A) A SEATFTES @) e
(C) aTfaeteH (D) HTELH HTFTEE
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(11) is a kind of motivation that includes activities for which

there is no apparent reward but one derives enjoyment and

satisfaction in doing them. 1
(A) Intrinsic (B) Extrinsic
(C) Positive (D) Self

(111) Rakhi is not able to trust anyone, not even her friends or family

members. She holds grudges against others. What is the kind of

personality disorder that she suffers from ? 1
(A) Schizoid (B) Paranoid
(C) Dependent (D) Obsessive

(1v) Varsha has created a spreadsheet on a laptop that is shared by her
group members. She does not want anyone to open or edit her file.

How can she protect her file ? 1

(v)  Which of the following is NOT an environmental barrier for an

entrepreneur ? 1
(A) Availability of skilled labour
(B) Lack of adequate raw material
(C) Lack of requisite machinery

(D) Unavailability of money on time

(vi) Which of the following is not a greenhouse gas ? 1
(A) Carbon dioxide (B) Methane
(C) Oxygen (D) Nitrous oxide
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I A O
2. feuwu 6 w4 @ fordl 5 T 6 ST AT 5x1=5

Q) wI-1 : foreht Qerfores wEwa & ol FTEH Tiee (Capstone Project)
3ifem WSt (FfEsHT) 2 | 1
HAT — 11 : HIRH TR & o B fordll fawar @ a9 9 sig89™ +
g1
(A) w1 AR FHAYT 1 SH T & |
B) %Y I 3R HYF 1 1 Terd @ |
(C) o= 1 9dl 3 Wg ¥ 11 7Tea ¢ |
D) FFIMNIHTRGFIAITAAL |
(i) 2w AT (Data storytelling) o <fiF &I Tw RIS ? 1
(A) 3 (data), faNIaTe (visuals) 3TR Rfea (narrative)
B) = (data), I (charts) 3R Rfeftea (statistics)
(C) 2 (data), TeMiEH (algorithms) 3R ﬁﬁaﬁﬂsﬁ?ﬁ (visualization)
(D) =20 (data), T (graphs) 3T @E (reports)
(iii) RMSE &% ar 4 fAfafga d @ wnadi 2 2 1
(A) =g fopeht I® & Tge (square root) 1 A § Heg AT 8 |
(B) 381 Taed Rough Mean Square Error 2 |
(C) ¥ forelt Him gafomar (Al) Aied i IRIEHAT (accuracy) &1 HaRT
HAAE |

D) JE T qﬁﬁ (test values) 3T %ﬁmﬁﬁ H\?ﬁ (predicted values) %
TN I El"'i'a\ﬁ (square root) g |

(v) Tfafaa @ @ =9 foe ?%I‘q g?;fﬁw i@ Sfiaa-ash (AT project life-
cycle) & T @ Tl § & & © ? 1
(A) ufEsHT S (Project scoping)
B) =gl (Data visualization)
(C) Tesmea = fmior =”er (Design or build phase)
(D) 3T H Ui (Deployment in production)
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2. Answer any 5 out of the given 6 questions. 5x1=5

(1) Statement-1I : A capstone project is the final project of an

academic program.

Statement — II : For a capstone project, the students research on a

topic independently. 1
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.

(D) Statement II is correct but Statement I is incorrect.

(i1) What are the three key elements of data storytelling ? 1
(A) Data, visuals and narrative
(B) Data, charts and statistics
(C) Data, algorithms and visualization

(D) Data, graphs and reports

(111) Which of the following is true about RMSE ? 1
(A) It helps to find the square root of a number.
(B) It stands for Rough Mean Square Error.
(C) It helps to determine the accuracy of an Al model.

(D) It is the square root of the sum of test values and predicted

values.

(iv) Which of the following is NOT one of the three main stages of an Al
project’s life-cycle ? 1
(A) Project scoping (B) Data visualization

(C) Design or build phase (D) Deployment in production
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(v) = TR W &R Al project B: (6) TN T FIUTH Hial & | Al project
TfshaT H TEeTT = UT R 8 ? 1

(A) e mew (Data gathering)

(B) i gEfomm atea fmi0T (AT model construction)
(C) == 9T (Problem definition)

(D) uRf=SE (Deployment)

(vi) et w.ats. ufimemn Sfiem-wsh (A Project Life-cycle) & f&sgT (Design) o
frmior =X (Build stage) & R ¥ frfoafaga o o = ot 8 2 1

(A) IZUEAT = |

B) I/TH W@ﬁﬂﬁﬁl‘l (iterative process) 2 |

(C) MREAH 15 amad |

(D) 3EY hadt 3AThel AUE (data acquisition) 3T 3= (exploration)

e B |
3. fRAIT 6wl d @ fh=l 5% AR | 5x1=5
() f=fefaa @ T Al project o 6 TN T A TE 8 2 1

(A) Za@mEw (Data gathering)
(B) T EEA (Data cleaning)
(C) YeaTeh 3T guR (Evaluation & Refinements)
(D) uif=sH (Deployment)
(i) 2T W AT (Data storytelling) ¥ narrative 3 Tgcaqul & ? 1
(A) g 2 WA (data volume) i ST § |

(B) 21 (data) ! Tl M o o3 918 ¥ (context), 31'«@;@ (insight) 3R
ST (interpretation) Y& T g |

(C) 8 =21 Taefishtu (data visualization) sl SATILIeRAT HHTS HdT & |
(D) I& A (data) faversor gfsman i w@=nfad Har g |
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(v) At high level, any Al project follows six steps. What is the first step

(vi)

3.  Answer any 5 out of the given 6 questions.

@

(i)

*367*

in the Al project process ?

A)
®B)
©)
)

Data gathering
Al model construction
Problem definition

Deployment

Which of the following is true about Design or Build stage of an Al

Project Life-cycle ?

A)
B)
©)
)

It is the first stage.
It is an iterative process.
It takes 15 days to complete.

It includes only data acquisition and exploration.

Which of the following is NOT one of the six steps in an Al project ?

)
B)
©
@)

Data gathering
Data cleaning
Evaluation & Refinements

Deployment

Why is narrative important in data storytelling ?

A4)
B)

©)
@)

It increases the volume of data.

It supplies context, insight and interpretation to make data

meaningful.
It eliminates the need for data visualization.

It automates the data analysis process.

Bbx1=5
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(i) Al project s He¥ H “garbage in, garbage out” =1 %7 372 & ?

@iv)

\

(vi)

*367*

(A) I EA data U 2 @1 Al Hige SWTEhRl & & |

B) 3fe 31 Terd Al giget 9Ad & @ Tl (project) farwet g1 e |

(C) T.3Ts. TemiEn (Al algorithms) TTeTd 821 9 (data inputs) i &a:
&l 31k FHL TR 7 |

(D) uif=sH =0 (deployment phase) § &= 81 (Garbage data) &
ST AT |

B W AT (Data storytelling) o SreiehTicteh ATHl H W Teh o9 T & ?
(A) 98 AT data SATHETE |

(B) IE G I ARk ATe T I 3T 3T & T A e B |
(C) e fazcraur T STzl i THT HLAT R |

(D) IE 3ATeheT TUEYT NFsHAT I TS ST 2 |

fesmsa Rifehm (Design thinking) 37 Sfeet TaEst 4 fued d 3rcda 3wt @
S dieh B uieTiya T2 2§ 91 3797a 2 | fesea Rifer w1 wrerfies wieed (focus)
2?

(A) Tesmga = dieiay

(B) IHE HHTH o fof3 GHTHM 3MTTid J3mE

(C) dHIhI BIFET (coding) HIFA

(D) T JaEA

feret AT model life-cycle % 3Taciieh =0T (scoping phase) & g ffaRaa
4 % T fr e T2 7

(A) ATEETRS ITCIAT bl TRTIG LT |

B) Teaumei (stakeholders) Y ST T THAT T |

(C) <1 (Data) e 3R fafamior

D) T wfaemy %1 gearea (ROI)
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(i11)) What does the phrase “garbage in, garbage out” mean in the context

of an Al project ? 1
(A) If the data collected is bad, the AI model will not be effective.

(B) Ifyou select the wrong Al model, the project will fail.

(C) AI algorithms can correct bad data inputs automatically.

(D) Garbage data should be avoided in the deployment phase.

(iv) What is one of the long-term benefits of data storytelling ? 1
(A) It generates more data.
(B) It makes information more memorable and easier to retain.
(C) It eliminates the need for analysis.

(D) It simplifies the data collection process.

(v) Design thinking is extremely useful in tackling complex problems
that are ill-defined or unknown. What is the primary focus of Design
Thinking ? 1
(A) Aesthetics of design
(B) Solution-based approach to problem-solving
(C) Technical coding skills

(D) Project management

(vi) Which of the following is NOT a key activity during the scoping
phase of an Al model life-cycle ? 1

(A) Defining the business objectives

(B) Aligning stakeholders’ expectations

(C) Cleaning and preparing the data

(D) Evaluating Return On Investment (ROI)

*367* Q [ P.T.O. ]
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AR W
4. fA™ 6 v 7 @ fpl 5 % s AT | 5x1=5
() et AT i =z & T H ATeh! UTEISHT o FSHT 3T SOTIERS
gl IS 21 & | 1

(A) T&9TET (Design)

B) uif=sH (Deployment)

(C) uliert (Testing)

(D) 3TEvIhal fagetwur (Requirement Analysis)

(ii) 2 W ITA A (T JIHHRY) T 97 3T HAT3T b Ty i
T % For e G g R | 1
A I=
B) =Wl A (Data storytelling)
(C) 21 3mEwThdl (Data requirements)
(D) 21 3AfwEn (Data acquisition)

(iii) T 3T Hied H IR W UH § 9 (RMSE value) g %9 BF
=feT | 1
A) 160 B) 170
(©) 180 D) 190

(iv) i3 fafsre 87 31999 (insight) FI AIR a1 T B, 38 T8 i & ol o=
(narrative) 1 & o fen ST g | 1
(A) @ (Scores) (B) @9TeAdT (Probability)
(C) =21 (Data) (D) i (Project)

(v) Tfafgad == ?ﬁ'ﬂl ﬁfﬁw ot wiew (AT development platform)
TR ? 1

(A) T FAIE T.3TTE. wiew (Google Cloud Al Platform)

(B) 31TE.&1.TH. d1eHT AW wiew™ (IBM Watson Developer Platform)
(C) zTHIfEE f=m fEE (Infosys Nia Resources)

(D) 3T T.3TE. (Alexa Al)
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4. Answer any 5 out of the given 6 questions. bx1=5
1) The stage of an Al project cycle involves the planning and
motivational aspects of your project. 1
(A) Design (B) Deployment

(C) Testing (D) Requirement Analysis

(i1)

is a structured approach for communicating insights

drawn from data, combined with visuals and narratives. 1
(A) Graphs

(B) Data storytelling

(C) Data requirements

(D) Data acquisition

(111) A good model should have an RMSE value less than . 1
(A) 160 B) 170
(C) 180 D) 190

(iv) The narrative is accompanied with , to explain why a

particular insight has been generated. 1
(A) Scores (B) Probability
(C) Data (D) Project

(v)  Which of the following is not an Al development platform ? 1
(A) Google Cloud Al Platform
(B) IBM Watson Developer Platform
(C) Infosys Nia Resources
(D) Alexa Al
*367* @ [P.T.O.]
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(vi) IR (A) : MSE U fOISH &8 %M (regression loss function) ® | 1

h (R) : A TUHT e 3T AHT € T Th 316d Jod o I
forafa 2 91 MSE 1 ST T 31<a1 721 2 |
39 AT o fordt 3faa faepea gf

A) (A 3R (R) < 2§ 3R R), (A) 1 FE TEHRTR |
B) (A) 3R (R) <H1 wEl & 3R (R), (A) 1 Tt TEiehtor 721 2 |
©) A)FE2TIR) @A |

D) (A) e g g R) T2 |

5. TAIT 6 wH§ Y el 5% AR 5 x1es
() T=fafed =1 e Hifs 1
(a) : :314_ (1) Ui (Narrative)

(b) é?-:_;_: (i) 37T (Visuals)

(c) B2 (i) =<1 (Data)

(@ (b (©
@A) @O @) i
B) @) @) (id)
(C) @i @) @)
D) @Gy () @
(i) warsd T o8 Tl 8 I 7TeId 1
Ife data H 1S pattern & & 1 T 318 T dehdlenl (Al development
techniques) T 3TN TohaT ST Fehal 2 |
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(vi) Assertion (A) : MSE is a regression loss function. 1

Reason (R) : It is not good to use MSE if your target data is

normally distributed around a mean value.
Select the appropriate option for the statements given above :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation
of (A).

(C) (A)is true but (R) is false.
D) (A)is false but (R) is true.

5.  Answer any 5 out of the given 6 questions. 5x1=5
(1) Match the following : 1
N hd "4
(a) L — (1) Narrative
=1
b [EVE| @) Visuals
(© Z (iii) Data
Options :
(@ b (©

@A) @O @) @b
B) @ O @)
©) @) @ @)
O @) @ @
(i) State True or False : 1

If there is no pattern in the data, then AI development techniques

may be employed.

*367* @ [ P.T.O. ]
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LT AR A
(i) fr=fafea & @ @9 @ Al model, Fm & ygw Teft T=F1 (open
frameworks) T UH a2 ? 1
(A) A (Tensor flow) B) wwe &l (Apple Siri)
(C) ifehe & (Scikit-learn) (D) T T (XG Boost)
(iv) festea Rifehm (Design thinking) T 5 & ik 2 | fmafafea & 9 &4
THUST: TEel! 3R 3faq ufshan & 2 1
(A) wERHfd, weru SE1 (Empathize, Test)
B) H’a’@{ﬁl, TIeeTsd s9HT (Empathize, Prototype)
(C) it w3t Wietersd a1 (Define, Prototype)
(D) ufeTiya s, 9heror T (Define, Test)

(v) HE I 9dqrsy 1
wlierur 3TTehel 9o H AR gEUE (Human Biases) Terr =27 & fawdia 1 @
JTferd L Hehd 7 |

(vi) "ey femd & fo@ fafafaa 4 4 =9 6 fovamomers geufa w=m & s
=rtaT ? 1

(A) YEEETES (Predictive)
(B) @it (Classification)
(C) faeumeas (Descriptive)
(D) wifershr fagerwor (Statistical Analysis)

G|
(forvroes YR & )
USITR izl W feu mu 5 godi § 4 fordl 8 ol o It AT 31 Tis T34 &1 S
20-30 el O AT T2 | 3x2=6

6.  TfshT HE0 (active listening) o 979 =0T & | T&1 =0T ‘Receiving’ & | 3= TR =01

% = fafe | 2
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(ii1) Which of the following is NOT one of the open frameworks used in Al

model building ? 1
(A) Tensor flow (B) Apple Siri
(C) Scikit-learn (D) XG Boost

(iv) Design thinking is a 5-stage process. Which of the following is the

first stage and last stage respectively ? 1
(A) Empathize, Test

(B) Empathize, Prototype

(C) Define, Prototype

(D) Define, Test

(v) State True or False : 1

Human Biases in selecting test data can adversely impact the testing

phase.

(vi) Which of the following analytical approach should be used to show

relationships ? 1
(A) Predictive (B) Classification
(C) Descriptive (D) Statistical Analysis

Section - B

(Subjective Type Questions)
Answer any 3 out of the given 5 questions on Employability Skills.

Answer each question in 20-30 words. 3x2=6

6. There are five stages of active listening. The first stage is ‘Receiving’.

Write the names of other four stages. 2

*367* @ [ P.T.O. ]
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10.

11.

12.

13.

14.

15.

fadcd @9 (Personality Traits) ¥sg ol T8 ST | T wRh Ifew (Five
Factor Model) % 3TTHR W sHfekicd bl SIq o1t feheal al STl o 91 foaafay |

EECAE) (presentation) Tﬁprint & & faw steps%ﬁ'\@'a |
Teh el 3T & hIg IR 0T foifad |
ferfermior gt 3t i & sl 3 yguo 7 0 & FiE o % Tarsd |

few w6 o A @ Toredl 4 T9AT o I ARTT 3 TAh T3 1 I 20-30 Tea] & 371

ERll 4x2=

fortft Afee & Aefiw (validate) & foid i Qefiptor ufshan (Cross Validation
Procedure) ! 989 § fafgy |

o7 ¥ f@eTe qedieh (Train-Test Split Evaluation) &7 & ? 98 &1 YehR 1 HEITY
& =t 8, [ T Train-Test Split Evaluation T 5307 {2 ST dhar 8 2

37 T HIhT T FATZT S HUTHIT (storytelling) i BRI et H@Fﬂﬁb‘l
FR T S 2 |

21 fos™ (Data Science) & ot Tgﬁéﬂ’q”f srRuet (Foundational methodology)
Tefd s aren e (diagram) S |

‘T 91@?11 A9EeH (Time series decomposition) d ’1@?” & TR (level), E@%{
(trend), TEH (seasonality) 3R IR €I (noise components) & TS & &1 I
T I 8 17 50 W Tohedl @ g1eshl (components) shT SIREdT T |
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7. Explain the term : Personality Traits. Name any two parameters that

describe a personality, based on Five Factor Model. 2
8.  Write steps to print a presentation. 2
9. List any four qualities of a successful entrepreneur. 2

10. Write any two ways to minimize waste and pollution in manufacturing

plants and factories. 2
Answer any 4 out of the given 6 questions in 20-30 words each. 4%x2=8
11. Briefly explain the Cross Validation Procedure to validate a model. 2

12. What is Train-Test Split Evaluation ? What are the two types of problems

for which Train-Test Split Evaluation can be used ? 2

13. Write any two factors that make storytelling powerful and integral part of

indigenous culture. 2
14. Draw a diagram to represent foundational methodology for Data Science. 2

15. “Time series decomposition involves thinking of a series as a combination
of level, trend, seasonality and noise components.” Define any two of these

components. 2

*367* Q [ P.T.O. ]



16. ©.3Ts. fae® wiew™ (AI development platforms) % H\Fq'l’cb_-[ (evaluation) %
oy 1 frfeiad Tes & 15 g 3ga €T ; 2

(a) Goft 9N (Open Languages)

(b) ScTEhdl FE &HA (Productivity Enhancing Capabilities)

feu e 5 yeai o @ oregl 3 T o I ST 37X s T34 1 IR 50-80 Wec) & 3freh

T 3x4=12
17. 39 el ol ST S data sets T THAIESH ST (compelling stories) It
T H HETIAT L Hehd & | 4

18. (a) o™ % (Loss function) FT1 8 ? @ waRM (Loss functions) 1 g Sfvmf
o | 2

(b) 3CTET & Ty ¥ FHifd foh w8 MSE &1 T o™ B (loss function) %
w9 R ST EhaT 2 | 2

19. Y& U.IE. AT Sstaa-wsh (Al project life-cycle) & fFfafaa @ 1 ww
HIf 4
(a) 3TTEYIHAT fogetwoT (Requirements Analysis)

(b) #iea fEo (Building the Model)

20. Toret T a1 THE 1 g HE 6 T g faweryuenes qdiest g1 woa &1 forem e ff

HTR | 4

S Y 1 I IR o H1Y WE HIFATC |
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16. Give any two examples of each of the following with respect to evaluation

of Al development platforms : 2
(a) Open Languages

(b) Productivity Enhancing Capabilities

Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12

17. List down the steps that can assist in finding compelling stories in the

data sets. 4
18. (a) What is a loss function ? Write the two categories of loss functions. 2
(b) Explain, with an example, when to use MSE as the loss function. 2
19. Explain the following stages of every Al project life-cycle : 4

(a) Requirements Analysis

(b) Building the Model

20. Picking an Analytic Approach to solve a problem is based on the type of

question. 4

Explain the given statement with suitable examples.
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PS : Score Global Forest Watch and Scores Ministry of Statistics and Programme Implementation
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21. (a) How do good stories emerge ? 2

(b) Which of the following is a better data story ? Give reasons. 2

=~ I~

all =N~

Max. Growth in Gross State Domestic Product (GSDP) from 2001-22

PS : Score Global Forest Watch and Scores Ministry of Statistics and Programme Implementation

*367* @



367 [l (24)



